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A profit-maximizing competitive firm will produce up to the point at which : (A)
total revenue is maximized. (B) marginal revenue is maximized. (C) total cost is
minimized. (D) marginal revenue = marginal cost. (E) all of the above.
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A consumer maximizes utility by choosing consumption bundles that (A)
maximize the marginal rate of substitution (MRS). (B) maximize the gap between
the MRS and the relative price. (C) sets the MRS equal to the relative price. (D)
maximize consumption of the lower-priced good. (E) maximize consumption of
the higher-valued good.

Which of the following would increase (shift to the right) the demand for a factor
of production ? (A) an increase in its supply, causing a decrease in its price. (B) a
decrease in the demand for the product. (C) a reduction in the price of a substitute
factor of production. (D) an increase in the price of a substitute product. (E) an
increase in the price of a complementary factor of production.

An increase in the supply of labor in a competitive market will : (A) increase labor
productivity. (B) increase the wage rate and the value of the marginal product. (C)
increase the wage rate and decrease the value of the marginal product. (D) decrease
the wage rate and the value of the marginal product. (E) decrease the wage rate and
increase the value of the marginal product.

Diseconomies of scale result when (A) diminishing marginal product occurs. (B)
falling average total cost occurs. (C) output increases more than proportionately to
change inputs. (D) increasing all inputs proportionately results in increasing ATC.
(E)modern production techniques require larger numbers of workers, in order to
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take advantage of specialization. '
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12.An inflation tax (A) is an explicit tax paid quarterly by business based on the

amount of increase in the prices of their products. (B) is usually employed by
governments with balanced budgets. (C) is a tax on people who hold interest
bearing savings accounts. (D) is a tax on people who hold money. (E) none of the
above.

13.When an increase in government spending raises incomes, shifts money demand to
the right, raises the interest rate and lowers investment, we haven seen a
demonstration of (A) the multiplier effect. (B) the investment accelerator. (C) the
crowing out effect. (D) supply-side economics. (E) None of the above.
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15.In the long run, inflation is caused by (A) banks that have market power and refuse
to lend money. (B) governments that raise taxes so high that it increases the cost of
doing business and hence raises prices. (C) governments that print too much
money. (D) increases in the price of inputs, such as labor and oil. (E) none of the
above.
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1. If the money is neutral, which of the following are not true? (A) an increase in
the money supply does nothing. (B) the money supply cannot be changed because it is
tied to a commodity such as gold. (C) a change in the money supply only affects real
variables such as real output. (D) a change in the money supply only affects nominal
variables such as prices and dollar wages. (E) a change in the money supply reduces
velocity proportionately; therefore there is no effect on either prices or real output.

2. If an increase in the nominal money supply results in no change in the level of

money income, which of the following are not true? (A) The price level must
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have risen. (B) The real income must have declined. (C) The interest rates must have
increased. (D) Government expenditure must have risen. (E) The velocity of money
must have fallen.

3. Which of the following are not examples of “adverse selection” ? (A) At a low
wage, a worker quits to find a better job. (B) At a low wage, a worker sleeps when the
boss is not looking because the worker is not deeply concerned about being fired. (C)
At a low wage, a worker cannot afford a healthy diet so he falls asleep at work due to
a lack of energy. (D) At a low wage, only poorly qualified workers ever apply for this
job.
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